it

A
x 7 L 4 R430M R430E R530E R630E
O P
iR #30001~ | #10001~ | #10001~ #10001~
X3 AT BAEA (G B i # b e fitt
T D UK |V RIRE
NATARY T min’! 2470= 2400= 24002 2400=
a—7A4 Ry min™ | 1005~1075 | 1025~1075 | 1025~1075 | 1025~1075
(W #K IR (C) (70~90) (70~90) (70~90) (70~90)
(fF # W 1&) (C) (50+5) (50+5) (50+5) (50+5)
- OB R
RS B mm 0.18~0.22 | 0. 18~0.22 | 0. 18~0. 22 | 0. 18~0. 22
> P B mm 0.18~0.22 | 0. 18~0.22 | 0. 18~0.22 | 0. 18~0. 22
& & 1) (VTR (Vi TERE) (7B (7 TERE)
o FERME S 3% MPa | 2.95~3.23 | 2.95~3.23 | 2,95~3.23 | 2.95~3. 23
SR EAEE 7 kgf/cm® | 30.0~33.0 | 30.0~33.0 | 30.0~33.0 | 30.0~33.0
5 (A= AR R (C) (80~90) (80~90) (80~90) (80~90)
([ iz 38 FE) (min™") (250rpm) (250rpm) (250rpm) (250rpm)
PR B | S v o MPa | 18.7~20.1
PRERE S BR AT ) kgf/cm® | 190~205
WA B Ty UL ORRY mm 7~9 7~9 7~9 7~9
o | B | B | e
B AVERE|7rY hkA— MPa | 0.19~0.21 | 0.19~0.21 | 0.21~0.23 | 0. 21~0. 23
kgf/en? | 1.9~2.1 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3
e U ARA— MPa | 0.19~0.21 | 0.19~0.21 | 0.21~0.23 | 0.21~0. 23
17 kgf/cn® | 1.9~2.1 | 1.9~2.1 | 2.1~2.3 | 2.1~2.3
g gy | 7R PEL—L N-m | 274~318 | 274~318 | 274~318 | 274~318
| P ROHE L b kgfm | 28~32.5 | 28~32.5 | 28~32.5 | 28~32.5
DFET My kg —n Nem | 274~318 | 274~318 | 274~318 | 274~318
z kgfm | 28~32.5 | 28~32.5 | 28~32.5 | 28~32.5
gl v N V| EERSE OB mm
Z: 17/:7;%{%;; A UHY f s 10 10 10 10
RY—=2F7 | YU =Ty MNE MPa 17.3 17.3 17.3 17.3
& DRV "3 ] kef/cn? 176 176 176 176
EATT L—F | RZ L OHE) mm
i 7% 0 AR mm
&) HlBhRE /) mELA 5 5 5 5
- [l By 5ek g ) km/h (15) (15) (15) (15)
i |BEET L= | E I AT RE A 15= 15= b= 5=
[AmrikEE] [Fifar] [HiAi] [FAi ) Eistol
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A
®T F L 4 RA30M R430E R530E R630E
i
iR #30001~ #10001~ | #10001~ | #10001~
X5 BT BAEA (G HAL i3 # ¥ i it
[N mm
G|
INPNGYAE mm
FZ 4
Elrr—x
WAT Est) | TA=YIOES mm
>
| v Ry FL— M | Nom
B | 24 kgf-m
* FAAIDEE mm | 3.75~3.95 | 3.75~3.95 | 3.75~3.95 | 3. 75~3.95
w| [TAR7 |Gy svarTL—t)
TL—%
(k) |57 FORS i
(6 )
Iﬁ =
i Diga FoaLsq=2/ | m
= qEzt) |
L=
L2122 |5y roms o | BT L= | BT L= | T = | £ L=
RICES) FEHM | REHM | FHM | FeHM
DYINT SO AN nm/10min 20= 20= 20= 20=
F AR BE T | [Ny b~offi] [ 48] (4] (48] (4] (4]
[1E 8 &) (©) (50=£5) (50+5) (50£5) (50£5)
1E Ny R mm/10min 20= 20= 20= 20=
[y b~ [ 1] (4] (4] (4] (4]
4 [1E B 6D (©) (50=£5) (50+5) (50+5) (50+5)
MEGE X B4 NIy sec 4.0~5.0 | 4.5~5.5 | 5.0~6.0 | 5.0~6.0
[y b ~DAT] [ %] (4] (4] (4] (4]
i [fE B i 5D (©) (50=5) (50+5) (50+5) (50+5)
Ny ML sec L7~2.1 1.9~2.3 | 2.3~2.7 | 2.3~2.7
[Ty b ~DfT] [ 1] (4] (4] (4] (4]
@ [1F #) o 5 (©) (50=+5) (50+5) (50+5) (50+5)
Ny M sec L4~1.8 | 1.4~1.8 | 2.2~2.6 | 2.2~2.6
[ b ~D ] [1] [48] [4] (48] (4]
[fF B &) (C) (50+5) (50+5) (50+5) (50+5)
OE OB | EREY U —TES MPa 17.2 17.2 17.2 17.2
p kgf/cm? 175 175 175 175
E EITV U —TEN MPa 36.8 36. 8 41.2 41.2
E kgf/cm? 375 375 420 420
T
[fE # i &) (©) (50=£5) (50+5) (50+5) (50+5)
fii
=
_g—
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